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QUESTION 1

What is the difference between host vPort and bridge vPort?

A. A host vPort is provisioned on VRS-G, while a bridge vPort is provisioned on VSG.

B. A host vPort is provisioned for VLAN traffic, while a bridge vPort is for VXLAN traffic.

C. A host vPort only supports one VLAN, while a bridge vPort can be configured with multiple VLANSs.

D. A host vPort requires static MAC address configuration, while a bridge vPort learns MAC addresses dynamically.
Correct Answer: A

Bridge vPort hosted in Nuage VSG/VSA Gateways Software, VRS and VRS-G hosted vPort

Reference: https://matscloud.blogspot.com/2017/06/nuage-networks-vsp-deep-dive.html

QUESTION 2

What is NOT a function of the VSC?
A. CMS integration

B. SDN controller

C. BGP federation

D. XMPP communication with VSD
Correct Answer: B

Reference: https://www.sdxcentral.com/networking/sdn/definitions/nuage-networks-vsc/

QUESTION 3

What benefits does virtualization bring to a data center?

A. Mobility, flexibility, and better resource utilization.

B. Multitasking with prioritized process scheduling.

C. More processing power, memory and disk space.

D. Higher bandwidth, control plane simplification and reduced forwarding tables.
Correct Answer: C

Reference: https://www.paessler.com/it-explained/virtualization
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QUESTION 4

The ML2 plug-in is part of which OpenStack project?
A. Neutron

B. Ironic

C. Nova

D. Heat

Correct Answer: A

Reference: https://docs.openstack.org/mitaka/networking-guide/config-mi2.html

QUESTION 5

Which mapping between a VSD service abstraction and an overlay service instance is correct?
A. Domain- VPRN service instance

B. Zone-VPLS service instance

C. Subnet-VPRN service instance

D. Virtual machine -SAP

Correct Answer: A

Reference: https://matscloud.blogspot.com/2017/06/nuage-networks-vsp-deep-dive.html
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